BENDIX MAGNETO REPAIR KITS

FROM KELLY AEROSPACE

Bondix Senl R KiLP/N KiPri
10-79020-5
10-79020:0 SGR(LN -24,25 07-00864 $182.50 07-00863 $584.00
10-79020-10
10-79020-11 S6LN -25 07-00868 $244,95 07-00867 $651.00 |
10-79020-13
S-24 & S25 10-79020-14 S6R(L)N -24, -25 07-00864 $182.50 07-00863 $584.00
10-79020-16
10-79020-17
10-79020-18 S6LN -25 07-00868 $244.95 07-00867 $651.00
10-79020-118
1109'77990%209'11199 S6RN-25 07-00866 $236.95 07-00865 $652.00
10-163005-1
10-163005-2
10-163005-3
-163005-
10-163005- S4R(L)N-200* 07-00844 $263.95 07-00843 $583.00
10-163005-7
10-163005-10
10-163005-11
10-163015-1
10-163015-2 S4R(L)N-201* 07-00844 $263.95 07-00843 $583.00
10-163015-4
10-163045-1 S4LN -204 07-00757 3218.95 07-00847 $556.00 |
10-163045-2 S4RN -204 07-00846 224,95 07-00845 $542.00 |
10-163045-3 S4IN -204 07-00757 218.95 07-00847 $556.00 |
10-163045-4 S4RN -204 07-00846 224,95 07-00845 $542,00 |
10-163045-6 S4IN -204 07-00757 218,95 07-00847 $556.00 |
10-163045-7 S4RN -204 07-00846 224,95 07-00845 $542.00 |
10-163055-1 S4RN -205 07-00846 3224,95 07-00845 $542.00 |
10-163055-2 S4LN -205 07-00757 218.95 07-00847 $556.00 |
10-163010-1
10-163010-2
10-163010-3
10-163010-4
10-163010-5
§-200 10-163010-6
10-163010-7 SBR(L)N -200* 07-00849 $265.95 07-00848 $655.00
10-163010-8
10-163010-9
10-163010-10
10-163010-11
10-163010-15
10-163010-17
10-163020-1
10-163020-2 SBR(LN-201* 07-00849 $265.95 07-00848 $655.00
10-163020-4
10-163030-1 S6R(L)N-204 07-00849 $265.95 07-00848 $655.00
10-163050-1
10-163050-2 S6LN-204 07-00853 $218.95 07-00852 $687.00
10-163050-5
10-163050-6
10-163050-7 S6RN -204 07-00851 $224.95 07-00850 $622.00
10-163050-8
10-163050-9 SBLN -204 07-00853 218.95 07-00852 $687.00 |
10-163060-1 S6RN -205 07-00851 224,95 07-00850 $622.00 |
10-163060-2 S6RN -205 07-00853 218,95 07-00852 $687.00 |
10-163070-1 SBRN -206 07-00853 $218.95 07-00852 $687.00
*The Repair Kit and Deluxe Repair Kit for the Bendix -200, -201, and -202 Series Magnetos contain two sets of Contact Assembly Kits.
REPLACEMENT PARTS FOR BENDIX MAGNETOS FROM KELLY AEROSPACE
P/N  |Description | Price | P/N |Description Price P/N iption [ Pri P/N Description Price
07-06301 |Bearing S 07-06329 |Felt Washer $0.90 | 08-14670 |[ES10-400167-8 15804 [ES10-382931 Coil 2250
10-357078|Bushing $27.50 | 07-06330 |Plug $9.60 | 08-15840 |AM-3015 Screw $1 08-15864 |- - tention Spring $22.5
10-357164(Coil W&mr $28.90 | 08-15841 |AM-3020 Screw $1.07 | 08-15867 |[ES10-391389 Gasket | $34.50
10-357165-1|Coil = Washer $0.60 § 08-15842 |AM-3183-1 Nut $0.40 | 08-15907 |[ES10-4093 Washer $0.92
10-35717-3|Breaker Points 07-06333 |Washer $1.89 | 08-15843 |AM-3183-2 Washer $0.40 | £510-682014 Gear
10-35717-4Breaker Points 07-06334 |Distri _ IAB-92815-37 Snap Ring | $1.09 08-15910 ssembly $169.75
07-06308 |Capacitor 75 | 07-06335 |Distri 08-15845 [ES10-163048 Bushing | $76.75 | 08-15911 [ES10-682016 Gear A 169.7!
82-322‘1‘? BD-ISIEL!IUIQLB-DQK—' i E g;'ggggg R?:Ji”“ $35.90 § 08-15846 [FS10-349219 Wedge | $10.99 | 08-150912 [ES10-685548 Washer | $0.67
= FeaKQLED.I.DIS. = . $0.90 § 08-15847 [ES10-349248 Slinger, Oil | $27.50 | 0g-15915 [KA10-16092 Washer $1.84
1007"’;)“6’3“1“; g“‘flakﬁlﬂllﬂls 547% 07-06338 |Ring. $1.59 1 05.15848 |[ES10-349392-1 Flange _[$123.75] g KA10-35937-12 Screw | $6.50
- oil g Bearing 185575 p .
07-06314 |Breaker Points 4.75 | 07-06341 [Bushing S6.50 | 08-15849 [£610-349392:2 Flange $176.75) KA10-361639 Bushing | $34.55 |
07-06315 |Breaker Points 3.75 |10-160844/Brush §5.50 |08-15850 [ES10-349392-3 Flange - KA10-382568 Strip | $2.50 |
07-06316 |Capacitor 07-06344 |Bushing 85,75 | 08-15851 [ES10-349392-4 Flange 08-15919 [109-2 3/4 Nut $15.75
07-06317 |Washer 07-06345 [Felt Strip 08-15852 [£S10-349392-5 Flange 1$192.90f 0g-15920 [113-2 5/8 Nut $14.70
07-02453 |Washer for Slick Mag 07-06346 |Packing Eﬁ?;o- 08-15853 |[ES10-349392-6 Flange |$ . 08-15921 [148A Insulator $6.70
07-06318 |Cail - Capacitor | [ES10-349970 Breaker 08-15922 [148B B Retai $5.70
07-06319 |Capacitor - Washer [ $5.35 | 0815854 5 inig $55.75 2391 |n;aus|':,°f &amer
07-06320 |Gasket - Breaker Points $47.00 08-15923 [5 0 oiner A $8.50
: I ] S 08-15855 [£510-349971 Breaker | ¢gq 25 etainer Assy
-07-06321 fushing 543.70 4 07:06351 Bearing 24.50- Points 75 | 08-15024 [2392 Insulator $7.75
oi FﬂaﬁﬁI_QB_IZZ.QA_MESAJQMLQn_EUMap_MAZ.ZSI
08-15856 [ES10-35935-5 Screw | $3.35 | 08-15925 [2446-2 3/4 Elbow Assy | $25.50 |
- asket 08-14664 [ES10-382618 Nut $17
S sk P i o120 0815857 [FS10-3703 Washer 35 | 08-15926 [2463-2 5/8 Elbow Assy | $25.50
07-06325 |Distri _ [ES10-35937 Screw $2.73 | 0515862 [ES10-382785 $23.80 08-15927 [70043 Ferrule $13.50
07-06326 |Distributor Block 4,75 | 08-14667 [KA10-682024 Screw $6.99 | IConnector Strip . 08-15928 {70044 Ferrule $13.65
07-06327 [Vent $ 08-14668 |[ES10-400166-4 . [ES10-382787 Bearing 08-15929 170046 Ferrule $9.50 |
10-50737 [Spring $1.05 | 08-14669 |[ES10-400166-5 Eﬁa 08-15863 |Retainer Plate $103.75

354 Www L AI Rc RAFTs P RU c E = c 0 M Prices Subject to Change Without Notice





